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 =�/(�� =>�(�#�� =��(�� "��� ?� @���� ABC� $ ��	
�D EBF6� A��1� G��'2(HRDP) . H�6
 <G��'1� IJ' -� &��KL�
:���� IJ' ���4�� $ �5�� ����M� ;��!��� ��N�2 O�K
 ����/�
 ��(BEP) ���4�� $ �5�� ���� �2 (BER) ?PQ 3��� 

 ��:���� ��4	5�� -� R��S RPK
 ,F�
 O2ITU-T G.826.  

  

 OT� ������(�� ���!
�� ���U<���!
V� @���� ��7V  

�������� 	 
�� 
�  

  2(  �� $ �	����� R
����� O2X���Y�� ����� ����� ���!
� "#�
 $ &���' &���� Z�[
 ��	
���� ��
���� ���  

\(   -�� G(] ^T G(] ?� =	P�� A��1� G��'�
 ��6���
 _���	� &��#�S O�P� O2 ��	
���� �	:��� A��1 �` a+2
X$(5�� R������ ���b ����+ G��'2  

c(  �� ?� &����� R6��� ��	
���� �	:��� A��2 O2X�#��  

 �(   ��:���� O2ITU-R S.614 ��:���� $ E��d� G��'1�
 ��6�
 ��	
���� �	:��� A��1 &�#��'2 ��7 <ITU-T G.821X  

���� �#�)�<�� �)/���    )ه� ��"�� A�5b1� A��2 O2(HRDPs) ���/(� ��>�(�#� �V�:���� (HPX) $ �'���7 e 
 ��:����ITU-T G.826X  

 �(  (f�� ?� O2� <������� A�5b1� ����g RS ��4���� $ Jb[
 O2 A�5b1� A��2 "���� h�(�
 $ Z��  i�(j ���D
Xk���� $ �Vb������ E"l��� ��K�+��  

���� 
�  

 2 (   ��:���� O2ITU-R S.1429 m �4�N��
 E(6���� R
����� ���� ��*+2 n
 Rb����� ?� �U�N�� A�5b1� A��2 G��'2 
1� ^T 0�(GSO) 0�1� ^T �4�N��
 E(6���� "o R
����� ���� ��*+2� (non-GSO) ��"�� ��	
���� ��
���� ����� $ 

 ?� R6
 ����(�� �	������ ��*+1� ?p�[� ZJ�� @�1� ��4!�� ?� qS2 �2 Z���� ��4!
 R��
 ���/(� ��>�(�#� �����
GHz 15�N�� �r _����� A�5b1� A��2 ��7 < ��:���� O2� �F	�s�� ��	
���� ��*+1� n
 �Vb����� ?� �UITU-R S.1323 m 

 ��	
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<A����� y	� Rb������ �4��
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�����  

1 { O�S ����M� <��	46���� ��	
���� �V:��� ;�!
 O�
 ��
���� ����� $ ��|�6�� ��	
���� �V:��� <&�NP} ~�
 ��:���� $ a��T ��K�� @���� ABC� $ R
�D RP� EBF� ��F:��� R�1� y	� $���
 8�9 ��	
����ITU-T G.826 . H�6
�

 �*MV��1 ��:���� ���	�� ?� �!	s���� ;��!��� ��N�2 ?� ����� &���� ITU-T G.826X  

2   O�
� ,w	�� $ �w>��� ����N�� �����D� ?P��� ?1 �5�� ����M�
 �:���� ���V�� A��1� ��N�2 ����
 R/2 ?� 
 ���4�� $(BEP)) (*+� �*MV�� 4 ( �*MV�� $ E��d�1 . ?� ���� ���F+ ����N�� �����D� ?PQ�Mbit/s 155 R/2 ?� 

 �*MV�� $ ��d� ��N6�� �Vs�D�2X  

	
� ���1 m ��:���� ��4	5�� H���� ��6��� R/2 ?� =l4N� ITU-T G.826 ���4�� $ �5�� ����M� <(BEP) y	� &����6� 
 �6j(�� $ A�5b1� ��� �D���BEP/α <) E(6F�� (*+�3 ,w	�� ?� 1 ( c(�� �N�)n'�v�
 R�:�
 ?� G(] Z2 �N� Z2 (

 R
���� $ =�/(� =>�(�#� =��� "��(HRDP)  <=	P�� k���� A�NY2 ������ ��2 y	� "�� �2 R�:�
 ?� &����� &�AB/ RPK�
 ~�{ $ ��)(�j 2�D2 ( ���C� $ E������ ;�6��
 E��d� ;��!��� ��N�21 ���4�� $ �5�� ����M� ��N��
 ~�JS� (BEP) 

 RPK�� $ E������4.  

3  ��:���� ?� &�AB/ ������� ��*MV�� q��
 O�
:  

	
� ���2  m  ;o(�� y	� <������ ��
 R/2 ?� a���s�D� Z��(f�� ?� q��� �2 <���(: (�S2 ��N� H��s�D� ?�w���
 �*MV�� O2 ?�1 ?�f
 �
 H���� ��6��� ��:���ITU-T G.826.  

C�� ���1  
������ �	
�  
(Mbit/s) 

�
��� ����� �� ������ ������  
)��� ����(  BEP/α 

0,064  

0,2 

10,0  

4–10 × 1,0  

8–10 × 1,0  

1,5 

0,2 

2,0 

10,0  

7–10 × 7  

8–10 × 3  

9–10 × 5  

2,0 

0,2 

2,0 

10,0 

6–10 × 7  

8–10 × 2  

9–10 × 2 

6,0 

0,2 

2,0 

10,0 

7–10 × 8  

8–10 × 1  

9–10 × 1 

51,0  

0,2 

2,0 

10,0 

7–10 × 4  

9–10 × 2  

10–10 × 2 

155 

0,2 

2,0 

10,0 

7–10 × 1  

9–10 × 1  

10–10 × 1 

  

�� IJ' $ <��� ����	� =l4N�BEP c(�� �N� )n'�v�
 R�:�
 ?� G(] Z2 �N� Z2 ( "��HRDP @�1� �����
 RlK� =	
�D 
 ���� ~�{ $ �� y	�2 ���� �2Mbit/s 155 =	P�� k���� A�NY2 ������ �2 )(�j 2�D2 ( $ E������ ;�6��
 ��d� ;��!��� ��N�

���C� 2:  



�������  ITU-R  S.1062-4  3

 ����C�2 

������ �������
��� ����� ��   
)��� ����( BEP/α   ��� ��α = 10  

(BEP) 

0,2 

2 

10 

7–10 × 1  

9–10 × 1  

10–10 × 1  

6–10 × 1  

8–10 × 1  

9–10 × 1  

 ���	
�3  m "��� ��F:��� ��7 HRDP ��:���� $ <��:���� IJ' $ a��T ��K�� ITU-R S.521.  

 ���	
�4 m O2 =l4N� ��6
 ����� BER$ E��d�  n�*MV�� 1� 2 (��6
 "#��� =FP� �� �	��] k���� ?� E(�# y	� 
 ����MV� ��/BEP . ,w	�� H�6��1 ��:����
 ITU-R S.614 ����� ���6� �6�(] BERk���� ?� ������ �4�N�� ����
 .  

���	
� 5 m ,�45
 R����� ����T ��K�� G��'�� �	
�6�� ;�6�� ?� q�� <��:���� IJ'  n�*MV�� $1� 2 <=	P�� k����
 
 A��1 c{�� ���M ;�6�� IJ' R�L�����M����4�� $ �5��  (BEP) ,w	�� $ ����T ��K�� �6�(5�� H�s��� 1 . k�N��D� ���

 n�*MV�� $ E��SJ�� G��'1� ^T ��:�	� ~�{� (����� H�� k�� A�NY2 ��7 3�� A�5b1� G��'1� IJ' ;�� ?�1� 2. 
 �*MV�� H�6
�7=	P�� k����� (����� k�� n
 ��V�	� &�"�F
  . ������
 �:��� G��'1� q��
 ��BEP $ E��d� 

 �*MV��1 3�� E��M��� ='  ��4	5�� $���
 ��:����ITU-T G.826 . ������ <�/��� �N� <R����� O2 ;�!�	� ?P��#
 ���] G��'1� ?� t(b2k+�S�� IJ'  ������ ��4	5�� $���
 ��:���ITU-T G.826.  

 ���	
�6  m@�1� ,�45��� O�P�  ��	
���� ��*+1� $ ��:���� IJ� �	����� k7 GHz 15 . RPK�� ��4	5�� -�D�
 A��1�
�6M� �D��� ->�� y	�2 ����(
 �N� R��
 ��*+2 y	� ��:���� IJ' $ ����T ��K��.  

���	
� 7  m E(�# 2�4
  (����� H�� k�� ?���
 E���j ������ ?� ������� ���M2 A�f6+� �5�� (SES) �'��� �	4� 3�� 
�O��Y (K� .(����� H�� k�� ?� &�AB/ (K��� ������ IJ' q��
� . (����� k�� ?� E���/ E(�# 2�4
���
A�f6+� ?� E(�#  10 

 O��Y�������� A�5b1� ?� &�"4S &���� ?�f�
 � .q��
�(����� k�� ?� &�AB/ (K��� ������ IJ'  . ��4�� ;�� ���7 ?PQ�
 ����M��
 ,	��� ���# (����� H��BEP Z���
 ����M� �4�N
 (����� H�� ���M ,�67 ;�� 8�M 0,5 $ z>�� �' ��S <

 RPK��3.  

���	
� 8 m n�*MV�� $ ����T ��K�� G��'1� ?� q�� 1� 2?� ������ �4�N��
 2�D1� (�K��  . ������ ��N�� IJ' R
�6
�
������� ���N��� ������ ��N�� ��(�K��:  

m  %10 2�D1� (�K�� ?�   %4,0�N��� ?� X  
m  %2 2�D1� (�K�� ?�   %0,6�N��� ?� X  
m  %0,22�D1� (�K�� ?�   %0,04�N��� ?� .  

���	
� 9 m R/2 ?� �
 ��6��� n�*MV�1� 2 ?� qS2 ����(
 �N� GHz 10 ��A�(/T �����D� ��F�� ?� O�P� �� <
 �4s	� E��f�R�K
 z�w!
 -� =F��P��� "FK��� �5s	� =���2 (FEC)-����� GV�b� �2 E��6�� $ ;Pw����  . H�6��

,w	�� 1 ��:����
 ITU-R S.522-����� GV�b�
 R�lK��� ��M ����	�� .  

���	
� 10  m ,6w�	� �	fF�� �6�(5�� BP
(
  ����(�� �V:��� A��2 ?������ $ ��D��6�� y	� ��	
���� . R����
 ���
 �4
(
 3�� ����F�� $ A�5b1� hKS ��55� ��D��6�� IJ'�6
E��F��  ���V�� ��D��� H�*+ ��N4
� . z�w!��� (Y[��

 �5s	� =���1�FEC $ =	>�F��� "FK���� ��	s���� "�F
 ��D��6�� )(*+� E(6F�� 3�  ,w	�� ?1.(  
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���	
� 11 m ->� n�*MV�� $ z>��� A�5b1� A��2 1� 2y	� ��D2  "�� �����D� HRDP ?� @���� ABC� $ 
 �	:���)Z2 �
��
 ^T ��4�� @���� ��� �
��
��4�� @���� ��� �2�  .(��6�45
 ����NP}  "��	� t(b2 HRDP Rb�� 

 R�:����)� <��P� ^T ��P� ?�&V� (~�J� &�6#� A�5b1� A��2 G��'2 �4> ?PQ�.  

���	
� 12  m �:��� ��P4K�� $ ��	
���� �V:��� ;��!
 y	� ��:���� IJ' $ �w>��� ,|�(5�� ,�45
 ?PQ . ;���
 ����� t���� y	� ��F
� ,�(] ?� �P4K�� R������ �P4K�� RlK� n
 A��1� G��'2 y	� E��� ��F
��(SLA) ��S  �'

 ��:���� $ ���ITU-T E.800.  

 ���	
�13 m  ��D��� ���
 ;�� ���� ?� y	�2 ���� Z1 E��(f��
 ���� \�	5�� ��D��� ���� A��1� G��'2 ��	
 =l4N�
�5�� z�w!
 �2 . �	4� ��	
�D �	:� y	� ��D��� ���� O�S �{T <����� R�4D y	��Mbit/s 6�	� ������� ��D��� �����  a

 �	4� ����� t���� y	� ��F
�� $ ��d�Mbit/s 2 ���� ��D��� A��1� G��'2 ,�45
 =l4N� <Mbit/s 2.  

  

  

  

  

 $%&��1  

1  '��( )�
�*	(� +�,-�. )��&�� /!
��". 0!
�". 1#� '23�	ITU-T G.826 

 ��4	5�� �(
�� ��:��ITU-T G.826�(F�� A�5b1� 8�M ?� � �5�� ����F�� 8�M ?� ���4�� $ ��.  

 ��:���� A��2 ��4	5�� H�B���� ?� ,6w���
 _����� �' ��:��� IJ' ?� 0(l���ITU-T G.826����� A�NY2  . A��1� ��:���
 $ A�5b1� ���# ��7 3�� ��*+�� �4�N��
 ���' ����� ���4�� $ A�5b1� 8�M ?� � ����F�� $ A�5b1� 8�M ?�

(��3�� ��*+1� R�� < A�5b�� =���1� z�w!���� ��	s��� R����
 (FEC) . ��:���� $ �	������ E��F���ITU-T G.826 
 ='E(��R������ ��D��� H�*N� n��V�� �4��(�� R
� �2 �4��(�� E��# E��� RPK
 3�� �6:V��� ���4�� ?� .  

 =5l
�� ��:��ITU-T G.826  m|�!� �6	���� G��'1�� ���	���  �V�:���� R/2 ?� G(] ^T G(] ?� �5�� �
��"��������(�� ;*�N� ���
 ���� <]��2 R�K�� ����D�
 ?PQ� R�!F���
 R6N�� ��*+2 ?� n5� &� ?� t(b2 ��*+1� �N� 
E��(f�� .�� O�5�N�� O�J'�:  

m  �
�(
 ?��B��� \��6�� =��� (PDH) ?� kbit/s 64X@�2 ���� ^T   
m  �
�(
=���  ?��B�� (SDH) ^T @�2 ���� ?� Mbit/s 3 500.  

 H�� $ ���(F�� ����1� ���(��� kF�>22002���(��� IJ' y	� ��*+1� ->� R�����  . ��(6�D� y	� �*#�w�	� a+2 �T
 ��*+2 ?� �f�(��� E���6�� IJ' R�lK
PDH ��:���� "�l
 H�� y	� ��F
�� e ITU-T G.821��] E(�# JN� ��|�6��  <�	

��*+1� IJ' y	� ,45
 3���.  

 z	5!� &�6#��SDH"�� "4��
 G(] ^T G(] ?� E��� ^T ��K� <.  

 z	5!� &�6#��PDH�	:� "4��
 G(] ^T G(] ?� E��� ^T ��K� <.  
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 �5�� ������ ���	� ,	5� ���	�� 8�M ?� R6N�� H�*+ A��2 �� (ES) �5�� E���j ������� (SES)?� RS $ �  �
�(��
 ?��B��� =��(�� �
�(���� ?��B��� \��6�� =��(�� �w!� O2 y	�SDH A�5�� E��F�� A�5b2 ���	� ,	5� ��#�>T ��	�� 

@���� ��D��� ���(�� qS2 �+�4�D� .E�M�� ��+�Y ?� "�P
 R�2 ����F�� IJ' E���.  

 E��#�?��B��� =��(�� �
�(��� h���� 3�� �'��<��D��� ��(D y	�  ������� ����� =' � �� 3�� ���4�� ?�  O�P

����������� R�4D y	� <�N��� ����M ���M -� E��F�� kP
�K
 �{T E.  

1.1   �
 �����
 ���
���� �����ITU-T G.826  

1.1.1  
���
� � ���� ����� �����
� ������  

m   ���� ������(EB)  
(�S2 �2 �5b ��
 ?�f�
 E��#.  

m  � ����!�� ���(ES)  
 (�S2 �2 �5b E��# ?�f�
 E�M�� ��+�Y ?� E(�#(EBs).  

m   ���� ��"�# ����!��(SES)  
 y	� R��K
 E�M�� ��+�Y ?� E(�#%30≤ R�1� y	� &��M�� �5b �2 �5�� ����F�� ?� ) ��:���� (*+�ITU-T G.826 

A�5b1� h�(�
 y	� �V]V�.(  
   �5�� E���j ������ O2 �*MV� ��`�(SES) �5�� ����	� ���(# ����� RPK
 (ES).  

m   ���$�� ������ ��%(BBE)  
 E��# �5b(EB) �5�� E���j ��+�Y ?� AB�S ��  � (SES).  

2.1.1  
	������ � ���� ����� �����
� ������  

m  ����!�� �� ��(ES)  
��b ��Vb hK�P� (�S2 �2 �5b ��
 y	� R��K
 E�M�� ��+�Y ?� E(�#E��jT $ �2 E��j�� $ E����� ��J+�� .  

m   ���� ��"�# ����!��(SES)  
 I��� ���4�� $ �5b ���� ?�f�
 E�M�� ��+�Y ?� E(�#3–

10≤.  

2.1  �
�����  

(��
 ���M $ �	�:���� �2 "��� O�S �{T �T �5�� A��2 ;��6
 H�� =l4N� . �*MV�� (*+�7��:����
 h�2 ,w	���   
ITU-T G.826Rb��� ����� h�(�
 y	� �V]V� /(����� H�� ���M $ c(��.  

m   ���� &��!�� ��'�(ESR)  
���6	� ��� R:�# A�NY2 (����� k�� $ ��	P�� ������ ^T �5�� ������ �4�+.  

m   ���� ��"�# &��!�� ��'�(SESR)  
2 (����� k�� $ ��	P�� ������ ^T �5�� E���j ������ �4�+���6	� ��� R:�# A�NY.  

m   ���$�� ������ ��% ��'�(BBER)  
 �5�� E��F�� �4�+(EB) ������ A�NY2 (�*
 3�� ����F�� -�U A�N��D�
 <��� ���� R:�# A�NY2 ����F�� @�UT ^T 

(����� H�� k��� �5�� E���j.  
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3.1  ������� �����  

 ���C� z>��3����F�� ���� E��F�� �� /+�����F	�s�� ��D��� ����� �4�N��
 ��.  

 ����C�3  
� 
����� !��" #� �$	����$%�&�� 
�
�%�&�� ��'� /��(�)��  

������ �	
�  
(Mbit/s) 

	�!	"�� ��  
(bits) 

��!	"�� #	$/���%&�'  

1,544 4 632  333  

2,048 2 048  1 000  

6,312 3 156 2 000 

44,736 4 760 9 398 

51,84 6 480 8 000 

155,52 19 440 8 000 

4.1  !�"#� $��%&  

 ��:���� $ E��d� G(] ^T G(] ?� A��1� G��'2 �(
ITU-T G.826 ���C� $ 4��AV�� 0�(o1  . G��'2 0(�
�
��D��� H�*+ $ ���4�� ���� ����
 A��1� .IJ' ���4�� ����� �6
�5�� ����F�� �� t�� &�f�2 0(��� .��T "j2 ��S� a

��D��� H�*+ $ R
(�� ��N4� �M�!�� ;��� �' ����F�� �� O�P� <IV�2 .(����� k�� R/2 ?� G��'1� IJ' ��7�.  

  

 ����C�4  

 *�+," *-�,�.� *0$% ��
 1,2 34 1,2 5" ����� 1��67(HRDP)  
 *�+," *-�,�.� 8����� �7(HRX) 9��: km 27 500) %�<
� :�� �����ITU-T G.826(  

�����  
(Mbit/s) 

kbit/s 64��   
	
�� �����(1)

 

1,5 �� 5  5 < �� 15 15 < �� 55 55 < �� 160 160 < �� 3 500

�
���� ���  
������ �  

����� �  5 000-800  8 000-2 000  20 000-4 000 20 000-6 000 
-15 000 

(2)30 000 

���� ���!�� "�#$ 0,04 0,04 0,05 0,075 0,16 

(3) 

$���!�� "�#  
���� ��%�&  

0,002 0,002 0,002 0,002 0,002 0,002 

��' "�#$  
"(�)�� ������  

����� �  (4)4–10 × 2  4–10 × 2  4–10 × 2  4–10 × 2  4–10  

(1)
  ��� ��� �		
�� 
�������� ��� ������ ��� ����� �!���� "# $��2003 . % 
�������� ��& ��'(��) *�+�� ����, +-�/ ��0!���

ITU-T G.821.  
(2)   1'��VC-4-4c 2����3 �4-5# !� �	6 ) ��0!���ITU-T G.707 ( 9�5: 1'# !�Mbit/s 601 �;�� <;�=�� �� ># 75 168<;�=�� % ��)  . ?�6 ��/

 "# 
�1'� @) �0!�� A��� B;�C >DE <;�=�� ��160 FG Mbit/s 3 500 
�1'�� ��� *�+�� ?HI JVC-4-4c 9/�K� ��� L��M B;�C >DE .
 ��'(�� ���/BBER 1'	�� VC-4-4c "# <;�=�� 2��� �	5�'E N��� 75 168 !� ��) 4–10 × 4.  

(3)   O�P� Q�!R�� ��'M ����,/(ESR) L!I �	5� 
�1'� <+�S 1T U�I V���/ >=�-# 
��) 9�5# �(� ����W+ <;�'C FG ��X MBit/s 160 . 1T

�� Y�-T� J@M, O�P� ��M�R�� ����-# ����� UZ�(E J�M��(ES).  

(4)   ��� ��� �		
�� �	[M\� ��'(��)1996 *���) ��=�P� <;�=�� O�C ��'M 9�5# ��� ;�DE J4–10 × 3.  
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 ���
 ���� �	����� ����(�� �V�:����� ��"��� R����
 O2 ?PQa�5l
y	�2 ���
 ���� R��
 ��D�T ��*+2 ��:���� IJ'  .
��������� ������ �#��(��
 �54
(�� G(] ^T G(] ?� G��'1� ;�� ^T ����(�� G��'1� JFN
� ��*+1� IJ' ;�!
 O2 �` .

 ���C� $ ������ G��'1� A�F��D� ?�f� O2 =l4N� <=|��K��� �5�� -���
 0�(�#� y	��1 ��:���� ?� ITU-T G.826 
��F
(�� ���4�� ���� ��*+1 �4�N��
��#��'2 ,6w�D �#��(�� -�U O2 <.  

5.1  '��� !�()& *+ $�, -. $�, �
 $��%#� /�0��  

 -������ ¡��4� �����D�
 =�/(� =>�(�#� =��� "�� �������� ��N]��� A�B/1� n
 G(] ^T G(] ?� A��1� G��'2 ���

 ��:���� $ ��	�!F
 ������ITU-T G.828)  RPK�� (*+�1.(  

  

 RP�K��1  

0$% ��"**�+," *-�,�.�  (HRDP) 

  
IG:  ���/+ �)�!)  

PEP:  1'�� �-^ ��DM  
 ������1 _`DI a/��� *�K� >Eb!� ���E J���/��� �)�!��� �(� U��(E 1'�� ?, �Mc��� �dG .  
 ������2 _���/+ �)�!) `�e!�� ����� +�f ?, "gh  i���/+ i�)�!) /, )B-P� /, �C���.(  
 ������3 _Y-�=jE ��0!��� ��� %  k��E ���e!�� ?������ +�� ?, "?���) �5);," ���3 % Y;\� ��0!�����e �g� <�=� +!m/ V��6/ J.  

6.1   
��:?���� @�'8A�����  

 @���� ABC� $ ��	
�D EBF� y	� ����%35^T G(] ?� G��'1� -�U ?�  Z�
 �	����� ���!
�� R6+ ��*+2 $ <G(] 
 ��:���� a�5l
 O�S ���
 ����ITU-T G.826E�5l�� ��	�F�� �#���� ?� (*N�� �l
 <@�1� ����� k7 �2 ��# ��T <.  

 I��� &�����
 y6	�
 J�N�M <¢]��� ABC� ?�[
 ��	
���� �	:��� k+�S �{T%42G(] ^T G(] ?� G��'1� -�U ?� .  

� $ E������ ��������� -� ���N�� (�1� �J'�� ��:��ITU-T G.821 �5�� ��+��	� �4�N��
 ��������� h	�£ 8�M <(ES) ��+����� 
 �5�� E���j(SES) . t�D R
����� y	� ���� ��%20 ��+���� -���
 ?P� @���� ABC� $ �5�� ��+���� R/2 ?� G��'1� ?� 

�P� G(] ^T G(] ?� �5�� ���6� y	�2 O0,04 ?� \�	5�� A��1� O�P� 8�9 ��	
���� �	:������l	� &�r�K�  . �4�N��

 t�D R
����� y	� -������ �	4� � <�5�� E���j ����	�%15 ?� 0,002 A�'� Z2 0,0003.  

 n���C� $ �(
5� 6
 �2 =�/(� =>�(�#� =��� "�� A�B/1 ?�[
 3�� R
���	� A��1� G��'2  �	4� =�/(� =>�(�#� R�:�
km 27 500.  

"E��) i) �D�(#
)1'# N,  

9!	S ���  
N-n ��6( 

���e!�� ?������  

a/��� *�K�

U5m-# Up�-�I� 1'#
*�K�  
q^!�� 

*�K�  
�q^!� 

) �[3o��1( ) �[3o��2( )�[3o��1(

km 27 500

��)  
*���MW� 

��)  
*���MW� 
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 ����C�5  

B���� �CD� 8+7 5" 8A�E ���7 1��67  

�����  
(Mbit/s) 

0,064 �� 1,5 1,5 �� 5 5 < �� 15 15 < �� 55 55 < �� 160 160 < �� 3 500

���� ���!�� "�#$ 0,014 0,014 0,0175 0,0262 0,056 ����� �  

���!�� "�#$  
�� ��%�&��  

0,0007 0,0007 0,0007 0,0007 0,0007 0,0007 

��' "�#$  
"(�)�� ������  

����� �  4–10 × 0,7  4–10 × 0,7  4–10 × 0,7  4–10 × 0,7  4–10 × 0,35  

 ����C�6  
F2��� �CD� 8+7 5" 8A�E ���7 1��67  

�����  
(Mbit/s) 

0,064 �� 1,5 1,5 �� 5 5 < �� 15 15 < �� 55 55 < �� 160 160 < �� 3 500

���� ���!�� "�#$ 0,0168 0,0168 0,021 0,0315 0,0672 ����� �  

���!�� "�#$  
���� ��%�&  

0,00084 0,00084 0,00084 0,00084 0,00084 0,00084 

 ��' "�#$  
"(�)�� ������  

����� �  4–10 × 0,84  4–10 × 0,84  4–10 × 0,84  

4–10 × 0,84  4–10 × 0,42  

 �{T ���C� $ E������ G��'1� ,45N
 J�N�M G(] ^T G(] ?� �	�:�
 �2 R��P��
 "��� �� R
�D (p��4.  

2   ����� ��	
�� 
��
�� ��
��� � ����(BEP) 

 ��:���� $ �#¤(��� G��'1�� ���	��� ����� q��
ITU-T G.826=	
�D H�*+ ;��!
 $ �4D�N� "o  . ^T ��7 O2 �`�
-���
 R�` �¥ y	� <���4�� $ �5�� ����M� ��N� &�f�2 ���	� ,	5� <k���� ?� ����� �4�N� &�6#� ���4�� $ �5�� ����M� 

��:���� IJ' G��'1 &�f�2 ������ ��N6�� �J� �
���DV� ;�!� =	
�D H�*+ Z2 . ��N� ^T Z�[� � R��w��� �J' O2 "o
��M�.  

1.2  	
��1���2
2#� 3��1#�   

� A�5b1� ��� �D��� O�P� 8�M <��6j� RPj y	� ��7 ��	
���� �V:��� q� ��D��� A�5b2 O2 &���L G�(��� ?
 �5s	� =���2 z�w!
 E(FK�� �	s�	� ���� <t(b2 R���� �	U ?�> <�6j� RP�(FEC) . O2 =l4N� <~�{ y	� A�N
�

4] ��	
���� �V:��� q� =��� A���
 z/�N�� c{��N�� =��(���6j(�� IJ' ��� . -���
 q����Neyman-A &�/{�� Z����� 
 ���M ����M� H�6� 8�M <&��|V� &V��L ��6j(	� =|��K��� ����� R�Q O2 aNPQ &��|�!MTk $ A�5b1� ?� N <��
 

P(k)@���� �wN�� y	� <:  

(1)  ∑
∞

=

αα
⋅

⎟
⎠

⎞
⎜
⎝

⎛

α
⋅α=

0

–
–

e
!

e
!

)(

j

j
jkNBEPk NBEP

j

j

k
kP  

8�M:  
  α:  2 �6j� $ �5�� ���4�� ��� �D���A�5b  

  BEP:  ���4�� $ �5�� ����M�.  
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 k+�S �{TNB = N��4��� y	� E{�b��   �N��� E��# $ �5b ��/� H�� ����M� O¦# <���5�� E��# $ ���4�� ��� R�L �§2
@���� �wN�� y	� O�P�:  

(2) α
⋅

α
∞

=

α
⋅

≅
⎥
⎥

⎦

⎤

⎢
⎢

⎣

⎡
⎟
⎠

⎞
⎜
⎝

⎛

α
⋅= ∑

BB NBEP

j

j

j
B

NBEP

j
NBEP

P
–

–

0

–

ee !e)0(  

 �5�� ���4�� ��� �D��� ��	���� ;�6�� -��Cα.  

���M� ?� q��� <�5�� E��F�� ���� �PEB������� �������
 <:  

(3) CRC B

B

BEPN

EB

NBEP

PP
⋅−− α

⋅

e–1=e–1=(0)–1=  

 8�MBEPCRC = BEP/α . <�5b ��+�Y ?� "4���� ?PQ�PES������� �������
 <:  

(4)  e–1= EBPn
ESP

⋅−
 

 8�Mn����F�� ��� �' /��+����.  

 ��� ���M ����M� O�S ���k ���� $ �5�� ����F�� ?� n <����F�� ?� Pn,k��� ���� 	������� �������
 :  

(5) ( ) kkn
EBn,k EB

PP
kkn

n
P

–

–1
! !)–(

!
=  

 < �5�� E���j ��+�Y ���� ����M� O¦#PSES@���� �wN�� y	� O�P� <:  

(6) ( )∑ ∑ ∑
=

−

=

−

=

−−
−

−=−==
n

nk

n

k

n

k

kkn
EBknknSES EB

PP
kkn

n
PPP

3.0

13.0

0

13.0

0

,, 1
!!)(

!
11  

2.2   ������ ��	
�� 
����ITU-T G.826����� � ���� ����
� �������� ������� ��� !�"#� �  

 ��:���� ���	�� =	:1� h�(���� ?� &��V5+�ITU-T G.826 ;�� \��� ������� "
����� �o��: ?PQ <ESR� SESR 
�BBER:  

(7) 
N

NES ESR =  

(8) 
N

NSES SESR =  

(9) 
B

EB

N

N
BBER =  

8�M:  
  NES:  ��� k�� $ �5�� ������ ���(��  
  NSES:  (����� k�� $ �5�� E���j ������ ���  
  NEB:  �5�� E���j ������ A�N��D�
 <(����� k�� $ �5�� ����F�� ���  

  NB:  �5�� E���j ������ A�N�D�
 <(����� k�� $ ����F�� ���  
  N:  (����� k�� A�NY2 ����	� =	P�� �����.  
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���� ���	� 

��	� �
��� ����� ������	��	� ���	� ��� ��!"�	 ��#��	� $#���	� ��� %&�'�()	 
�:  
(10) ESPESR ≅  

(11) SESPSESR ≅  

(12) EBPBBER ≅    
*��� �+()�� ,-�. / ��0��1 %&�'�(� �23����� ��� ��#��	� %&�'�(&� $�4� 56��
� .�� �8 9�03�'�� /� �;2 ���

�0���� <=�	� / >0���� . ?
?@ ����� 9��A�B ,C / 5D��E� %���	� / F�G ��'�(� �+()1 ��H��.� �IJ. 9K	;	�
��	��	� %&
���� ��'��0�# ��0���� �L�'�= M��( ;D?��� <=��	 N��.� ��0�0O� P�?(O� Q�=� %&�'�(�:  

(13) 
a

T

ttP

T
ESR

a

ES∫
=

d)(

 

(14) 
a

T
ttP

T
SESR

a

SES∫
=

d)(

 

��	��	� ���'�	� R�S 9��4�T� U3?4	� F�G ���A / F�T� U?
?V W��X	� Y��X�0� M��Z�:  

(15)  
a

T SESR

tP

EB

T

ttP

BBER
a

SES∫ −
−

=
d)(

1

)(1

 

 [�(Ta����	� <=� �2 .  

 ,\] �1 5'C���	� ^
_��	� �	�?	 N��.� �`.���� $#���	� �
�a �� <=�	� / ��0���� ���	� M��( ����BEP/α9 52� F(x) .
 M��( ��
�a 5�
 �'�. bH���SES:  

(16) )(d)(d)(
1 /

0
xFxPttP

T

th

a

BEP

ES
T

ES

a

∫∫
α

=  

 [�(BEPth /α����1 $c d�+�	� �L=�. e��f
 g	� ����	� �'�= 52  .R�GO� %�'���� ��� ���B�'�	� %���E�� ������.  

h��	� �"�	� ��� ,!4�1 �
��� ��'��0� ��� 95'=3 M��( Y��\i�:  

(17) )]()([)(d)(
1

1 iii

i

ES
T

ES

a

xFxFxPttP
T a

−≅ +∑∫  

 ����	 ^�'j�	� ��k [�(xi ?�� BEP/α <@ BEPth /α.  

 ��-��	� Y�
] l�?2] ���"�	�ITU-T G.826 ��'C���	� %��
_��	� �1 
�?m $c N�
?� ?n o] ��� BEP/α 9F(x) . 9K	I�
 Q���	 o��
 o] p��4
F(x) ,�E	� / U
3��	� U3�!	� 2 .$���	� ��� qA] �+()1 3?8� �� F(x) <=�	� �1 �
�`1 ����C 

 q�. _��j�� & r;	�BEP/α �'��	� x ]��� o] 56��
 K	;	� F(x) ,�E	� / 5�.O� 3�s� ���	 N)'�1 �23����� ��� 2.  
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 ,�tE	�2  
	
��
� �
��� �����  

1062-02

D

  
  

 ����	� d?� ����	 ,#���� <=�	� 
?kTth �'��	�# 0,933 = PSES . u��� ����# N&�'�(� �'��	� v;2 ,#����0,5 �E� P?@ [�w 
����1 ,�E# F�T� U?
?V xo��B.  

 ,�E	� �'y�
3 ��= BEPth /α ��?z� / N�y
] ���	� v;2 
��� 9�4��{ %��# %&?�| ����
 �'�. ��#���� 7.  

  

������� 	
��� 
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 ,�tE	�3  

PSES ����� BEP/α  

1062-03

E D

2 5 2 52 5

  
  

 ��?tz�7  

������ �	
� 

(Mbit/s)  
BEPth /α 

0,064 

3–
10 × 3 

1,544 

5–
10 × 9,00 

2,048 

4–
10 × 1,90 

6,432 

4–
10 × 1,17 

51,84 

5–
10 × 5,68 

155,52 

5–
10 × 1,89 

  

 �
��

��
�

S
E
S
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 ?��3���G� �'��	� BEPth /α } %�1
��� o] ~� v���A&� 9K	I ^1 956��
 9���=O� ?�	�� ,\] �1  ^yT ?�� �1���	� U3��
����1 ����  �'���	BEP���� 9 �'��	�# ��2 lBEPmod . ~� N�
���0�� �'�= ���� 9��0 �1BEPth /α  ���'��0� �8 g	� 

��	��	� �6�!	�#:  
BEPth / α = − min (BEPth / α of Table 7; BEPmod / α)  

  

�'��	� ,�E� 9N��	�( ��1��	� %�1
��� �+�1 ~� ����	�# 3−
10 × 1 �'���	 N�?�\ N�#3��� BEPmod.  

 ���=O� �1 
�?m $c 
?� ?�	�� ~� v)�] U3�C;�� ��
��	� r
��0 /���� g	� / U
3��	� Y�
O� l�?2]	���-��  
ITU-T G.826 .h��	�#�9 ����	� ?
?@� ��1 Q��= �
���	 ��	��	� ���'�	� ,'���� C� D� E� F Q����	 )�+A� ,�E	� 2(.  

����� 1 �  ?�� Q���	� ��= <��X�%100� %10� %2� %0,2 <=�	� �1 ) ����	�C� D� E� F.(  

����� 2 �  �'��	� ?
?@BEPth/α.  

����� 3 �  <=��	 �'�= 3���G��#����9����	� d?� ����	  (Tth
 

< 0,2%) Tth.  

����� 4 �   �����	� �# �����1 >G p���.�B� C.  

����� 5 �  �	� M��( ��ESR� SESR� BBER ���� ,G�
 �1
 �)G �1 ^=��	��#  0,9 Tth �%100   
)�+A� �+()�� 1.(  

�
���� 1 � ������	 
� �	
����	 �
�	��	 ������	 � ITU-R S.579 ������	 ��� ��� ���� ���! " #�	 ��$�%"	 &'�( )	�*+ &,( #�	 �
 -./��	"��$�%"	 1,�2 ���( -3�� ",��2 �%10�/��4	 56' 7�89 -:+ ;3  . �3
 = 	6>'�%10 �.�8�	 ;3 Tth ���	�? �����	 ��� � 

 �.�8�	 ���@ A�>( #�	 B"�C	BEP �.�8�	 ;3 +��+ BEPth ;3 -�+ � ��/D� 
� 
�/( ;>�� 10EA	�F .  

����� 6 �  3���G� <=��	 U?
?\ �'�= Tth 3����� ����T� 4 �5��] ��"�� o] ~�  ����	 ��= �ESR� SESR� BBER 
rO Tth �1 �6-] %0,2<=�	� �1 .  

 <�.��0� �I�O� ���	� ��� ������� l�?2ESR� SESR� BBER  �	�?z� / U
3��	�5� 6  ,�# ����
 �'�.%0,2 > Tth 
 ����	�# 
?s� Q���	� o] e��
 9<=�	� �1C� D� E� F 54
 %�����|��-��	� ��	�Z�  .~� �.�H� ���'�	� �1�� 9K	I 

 �� ,�� ����# ��-�	� ���� d?� o] v)�] U3�C;��%0,2��@ ?= <=�	� �1 .  

 ,(��'�	 U3����� ���'��	 �j���C�4� 5� 6 �����	� �# �����1 >G ,C 54�0 9B� C [�( 9B ^�
 o] ��� / r] 
 �# o��1%0� %0,2��-��	� l�?2F# 9<=�	� �1  ��	�Z� 	� d?� l�?2]����� . Q����	 d��	� ,�E	� >���� ��� �;�2�

 Q���	� ?
?� �
�a ��N��0]3 ����	� �1 N�=)�A� C ,�E	� K	I bH�
 �'C 4.  

���	��	� %�H���.&� �.�HJ#� v)�] �.�-��� ���'�	� ��'��0�#:  
�   ���	�BEP/α ��#���� ������	 E� F9��#���1   
�   ���	�BEP/α ��#���� ������	 E� D9U�E�# ���}   

� ,�E	� / ���=O� v;2 bH��� ��03�	 �4��{ %��# %&?�1 ,\] �1 ���=O� �1 ���'� ?�	�� � 9��X'C5.  

^H� ?���  o] p��.� 9���=O� v;2 3−
10 × 1 = BEPmod . ,�V / W�X	� p���.&� ,
?�� ��5 �+��1 Q��= ��� ��!"�	. 

����	�# N)X'. 	� rI Q����� �?�Mbit/s 1,5�# ����	� oJ. 9  ���	�BEP/α ��#���� ������	 E� D �1 %$6� 10 ~� 3.  
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 ,�tE	�4  

���� 	
��  
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 ,�tE	�5  

��
�
��� �����
� ����!� ����"�  

  
  

3   ����� ��	
�� 
 ���� ���� �� ���������� ����  

l����� �1N�1��  g	� ������	� %)-�	� ��� �+()�� Y��GO� o] ,'���� %���{ 	�51�1O� b�"!�F���	  (FEC) 
>����	� �'+A]�?EZ� ]?�1 �1 �LB�?( / M����  . P�?(F# N�y
] �L��'�� ��� g	� 
�EZ� v;2 3�L� o]�9F�T� �2 

o�0��# ^
_�� ^��
� 5D��E� 3�L� .o�� r;	� �?��� �4A �2 K	I �� ����	� %�3?4	� / F�T� �?�1 �#��
 P�?( 
 %���	� / ��D��E� Y��G])o�0��# ^
_��	 N��.� ��_�1 ( %���	� / Y��GO� �1 �?�1 ^1BER/α [�( 9α)  / d?�����

U��4	� 1.2%��V3 ��� Y��GO� P�?( U����1 ,\] �1  ( %���	� 
?� >0��1 �2F�T�� /  ,X� �'C 9?EZα �# ����	� 
 P�?( �?�1� %���	� / F�T� �?�1F�T�. e��
 9>�{� Y��G�	 51�1] b�"!� o�?# 5D��E� *��B� F�G U��= / N)X'. 

 ,1��	�αb�"!	� ?(���	 N�
���1  . ,1��	� o��
 o] ��� K	I ^1�α ?(��	� �1 eC] ����	� ��	�� ,��E� %���{ ^1 
b�"!	�.  

 /� Y��G�	 51�1O� b�"!��	 >�{ r]FEC ,1���	 �
�+�	� ���	� �
?�� ��� 9α >��'�	 b\�1 ^
_�� ��'��0�# 
FEC . U��4	� / �
�+�	� �'��	� ����V�# �-�T� ��0�0O� %�1����� 
���1.3.�=���� Y��GO� 
�EZ ��D�!(i� �D�!T� 
 ��� b�"!�	� >�{FEC/,'����� >����	� .�0� ?=� ����� M�0�Z� ��0��# %�0���	�� U�C�s� %���'� <1?�

 b�"!�	� %���{FEC) 5�H�4� $4E� �] >��} o�
 ( ,1��	� ?
?@ ,\] �1α . ��0�c U��= U�C�s� ���'� / p��4
�
�.�y1 Y�y�# .�
�� / �D���	� v;2  �1 %���4	�2.3 ~� 6.3.  

����� ��	�� 
� �
	��� ������ 
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1.3  �� � ���� �	
��� 
�� ���
� �	�
����  

 U3?4	 ��1�+�	� U�4E	� o] p���.�#(n,k) 52 C �

?�	� ,��X�	� �	�
 oJ. 9(WEF)52 N�?�\ �.����� �� :  

 (18) 
i

n

i

i
C

HBHB ∑
=

Δ
0

)(  

[�(:  

  Bi) :b�"- 
?� ( u��1�2 ,�B %�I U�4E	� %�'�C 
?� �2)b�"!	� ?(��	� ��= 
?� (i  
  H :�D�_ $6�1.  

 �	�?	� ��'��0� ����WEF	  F�G ��'�(& ���] ?(� �4E���� $c Y��GO� ��'�(& ���=?	� �6�!	� M��Z U�4E
�'��	�.  

 ,G�?	� M��a�	 �

?�	� ,��X�	� �	�
 �
��� ����(IRWEF)5�
 �'C U�4E�	 :  

j

jw

w
jw

C
ZWAZWA ∑Δ

,

,
),(  (19) 

 [�(Aw,j 
?� ~� $E� )b�"- 
?� ( %�1���1 �'�C �1 U?	���� U�4E	� %�'�C u��1�2 ,�B �� ,G
w  u��1�2 ,�B� 
 �L��	
��� 3���G� %���	j r���
 5��	� u��1�2 ,�B oJ. h��	�#� 9w+j . �	�?	� ����(IRWEF) �1 ��!4��� %������ 

A�z� �L+�� oFE# ��.�H� %�1���1 �;2 �.�
� U�4E	� %�'��	 5��	� u��1�2 ,�B / ��	
���	� 3���G� %��# �1� %�1����� �
 ,�X�	)u��1�2 (U�4E�	.  

 9%���	� / F�T� ��'�(& ���O� ?Z� ?
?@ ��� 9v)�] �6�!	� ��'��0�#�Pb�'��	�# 9:  

(20) ∑
∞

=

″≤
mindm

mmb CRPDP )( 0    

 [�(dmin� U�4E�	 ��A?	� �.���� 52 )( 0CRP
m

″ ,�X	� %�I U�4E	� �'�C 3���G�# �4E�� d��
 o] ��'�(� �2 m ��E# 
� �4- �L'�= ,C U�4V �'�C ��0��� U�4E	� �'�C o��� o]:  

(21) ∑
=+

=
mwj

jwm A
k

w
D

,
  

 ?EZ� / %���	� 
?� >0��1 o��
 h��	�#�α ,�X�	 ��0���� �'��	� �2 wq�� ���
 �1 �2� :  

(22) ∑ ∑
∞

= +=
=

mindm

mjw

jwm

PAww
,

  

 [�(Pm Y��G] 
?�# Y��G] P�?(]  Q�=� ��'�(� �2 m/ Y��GO� P�?(] ^��  . oO N��+A�Pm ^1 ����# �=���� 
 �'�=m %���	� / F�T� ��'�(& �y4���� ���	� ^1 �-�G 9(BEP) �'�= �
��� ��� �;	 9w5�
 �'C :  

(23) 
min

min

djw

jwd

PAww
,∑

+=
≈   
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2.3   ����� ���	
BCH��
�
���   

 �	
���� ��'��0�#(23) ��� 9 ��= �
?��α %��4E	 BCH��1�+�	�  . ��?z� ��
�8 U�4E�	 ,��X�	� ^
_�� (7,4) BCH 
 u��� U�4E	� v;� ��A?	� �.�����3 . �
?�� ��� 9h��	�#�αh��	� �"�	� ��� U�4E�	 :  

(24) 7.1
7

1
3

7

3
2

7

3
1)4,7()4,7( ≅×+×+×≈α=w   

 ��?tz�8  

 	
��
� ������� �����(7,4) BCH  

w j  Aw,j  

0 0 1 

1 2 3 

1 3 1 

2 1 3 

2 2 3 

3 0 1 

3 1 3 

4 3 1 

 ��?z� ��
�9 ,1���	 U3?��� �'��	� α %&�?	 BCH ��?z� o3��
 �'�. �4��{ ��1�+A 10 U�4E�	 U�C�s� �D��A (15,11) 

BCHU3?��� �D���	� ^1  .U�C�s� �'�= ^1 U3?��� �'��	� <#��=� %���	� / F�T� �?�1 ,= �'�C�.  

�#�F�G N��
��� %�1����� �'�C �!A o��
 9$4E�	� K. ���'� ,E4� �1?�� 9��1�+�	� $c %��4E�	 ����	 . 9�	�Z� v;2 /�
 ,1��	� �
��� ���α �'��	� ~� k/2.  

 ��?tz�9  

 ���α ��
��� 	����� ��
���� BCH��
��   

 ����(n,k) BCH 

α   ����(n,k)���	
   α   ����(n,k)���

   α  

(15,11) 2,20 (16,11) 2,75 (15,10) 2,67 

(31,26) 2,52 (32,26) 3,25 (31,25) 3,23 

(31,21) 3,73 (32,21) 4,56 (31,20) 4,53 

(63,57) 2,06 (64,57) 2,96 (63,56) 2,96 

(63,51) 4,07 (64,51) 4,50   
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 ��?tz�10  

 ���!
� 	�"�#� ���$ ��
���� ����� %& �'����α 	
��
� (15,11) BCH  

������ � ���� ���
   ���α������ �
    ���α�!�"
��   

2,88 × 10–2 2,60 

4,69 × 10–3 2,37 

5,57 × 10–4 2,36 

2,36 × 10–5 2,33 

2,2 

  

3.3  ��������	 
	����	 
�	��  

��4�.)�	� %��4E	� ��� ,B�� �� ����� ��� .( 9�.����� ��4�.)�	� %��4E�	 ����	�#� %��
_�� �4��{ %�0�3
 %
?
 ��1���| %��4E	� v;� ,��X�	�ad �.���� %�I U�4E	� %�'�C 
?� 9d� 9cd %���	� Y��G] Q�'� 9)%�1����� / F�T� ,�B (
 �.��1 %�I U�4V %�'��	d . %��4V ^1 ,'����� �
���	� �4A ��'��0�#�BCHoJ. 9�����Bi� α) (=w��� �L�
��� 

�	� ��� ��4�.)�	� %��4E�	 ����	�#" �)/()(
ff dd ac [�( 9dfU�4E�	 U�Z� �.���� 52 .  

 ��?z� ��
�11 ��?z� o3��
 �'�. U$LV ��4�.)� %��4E	 ,��X�	� %��
_�� 12 ��= �# α �1 �L'�=� N�
�+A U3?��� 
U�C�s� . %��4V / <�B �'C�BCH 9�����Bi�  ��= oJ.α �y4���� ���	� ?�� U�C�s� �1 �L'�= N��
��� r���� U3?��� 

 %���	� / F�T� %&?��(BER).  

 ��?tz�11  

����()��� ��
��
� ������� �����  

���#�� ���
 
R 

���$� �	���  
K 

 ��	$�  
)%�&(  

df (ad, d = df, d = df + 1, d = df + 2, …) 

(cd, d = df, d = df + 1, d = df + 2, …)  

7  133, 171 10  

(11, 0, 38, 0, 193, 0, 1 331, 0, 7 275,···) 

(36, 0, 211, 0, 1 404, 0, 11 633, ···) 
1/2  

9  561, 753 12  

(11, 0, 50, 0, 286, 0, 1 630, 0, 9 639, ···) 

(33, 0, 281, 0, 2 179, 0, 15 035, ···) 

*
2/3

  

7  133, 171 6  
(1, 16, 48, 158, 642, 2 435, 9 174) 

(3, 70, 285, 1 276, 6 160, 27 128, ···) 

*
7/8

  

7  133, 171 3  
(2, 42, 468, 4 939, 52 821) 

(14, 389, 6 792, 97 243, 1 317 944) 
*     ����� ��� 	
��
� �� ������ ��
��1/2 ���� ��� �� K = 7.  

4.3  �������� ��	
��� 
����  

�I ������1 U�4E	 ����	�#?
3 >� �1 ��\3�G U�4V % � o�1�	�0(RS) �'�= ���� 9��4�.)� ���G�
 U�4V� α ~� U�V��1 
 U�4E	 ,��X�	� ^
_��RS��\3�T� U�4E	� 52 ��O  . �'�= ��� ��!Z� ����α %��4E	 RS  U?���	� �4A ��'��0�#
 U�4E	� ^1 ��'�����BCH K. >�{ �!=] ��'��0� ��( / K	I� 9�����Bi� b\�1 $4E� . ?
?@ 56��
 9�	�Z� v;2 /�

 %��4E�	 *��Bi� ,��X�	� ^
_��RS.  

 ��
�z� ��?13 ��= α %��4E	 U�C�s� RS ���-��	� / �-��� ,������ $4E�	� >�{ / ITU-R BO.1724 
�ITU-R S.1709 . U�4E	� ��2 ,'�����RS(204,188) U�4E	� �1 �	����� RS(255,239)-O� ��� . U�4E	� ,'���� �'C

RS(71,55)���{ �1_3 �j( ^1 �	����� .  
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 ��?tz�12  

 ,1���	 U�C�s� ��=� �
�+�	� ���	� �# �A3��1α��4�.)�	� %��4E	� /   
 ���#�� ���
 

R 

���$� �	���  
K 

 ��	$�  
)%�&(  

df α  
)�'��$�(  

 � ���� ���

������  

α  
)������(  

1,74 × 10–2 7,21 

1,91 × 10–3 5,68 

1,05 × 10–4 3,74 

5,05 × 10–6 3,48 

7  133, 171 10  3,27  

1,07 × 10–7 3,00 

1,22 × 10–2 13,00 

1,77 × 10–3 11,56 

2,10 × 10–5 4,38 

1/2 

9  561, 753 12  3,00  

4,20 × 10–7 3,96 

3,61 × 10–2 8,00 

7,86 × 10–4 7,14 

2,96 × 10–6 5,32 
2/3  7  133, 171 6  3,00  

2,14 × 10–7 5,67 

6,24 × 10–2 9,08 

2,68 × 10–2 8,85 

9,82 × 10–3 7,77 

1,77 × 10–5 7,57 

7/8  7  133, 171 3  7,00  

1,49 × 10–6 7,29 

 ��?tz�13  

 	�
α ���
�� ������ RS��� ��� � ������� �
�  
 ����(N,K) RS  � ���� ���


������  
α   ����(N,K) RS  � ���� ���


������  
α  

7,74 × 10–3 12,80  6,17 × 10–3 8,47  

5,19 × 10–4 9,14  2,03 × 10–4 7,74  

(204,188) 

1,02 × 10–6 8,58  

(71,55)  

2,02 × 10–7 7,32  

5.3   ��	
� 
����turbo  

�4E	 ����	�# ��� %�turbo %��4V oO ��4�.)�	� %��4E	� ^1 d?����� �L��	 q#�E1 �� d�?��0� turbo ��� d��� 
��4�.)� %��4V . ��
�z� ��?14 %��4E	 ,��X�	� %��
_�� turbo ���-��	� / �4-��� ITU-R BO.1724   

�ITU-R  S.1709 ��
� z� ��?15 ��= α��#���� U3?���  . ��
�z� ��?16 ��= α u��
 �1_3 �jZ U�C�s� 53��
�#  . N��+A�
 %��4V oOturbo ��= oJ. �;	 9�
3���� $4E� K. ��1_3��G ,'���� α ��� �L��� �=��� %���	� / F�T� �?�1� 

%�3����	� 
?� ���� $4E�	� K. ��1_3��G . $4E�	� K. ��1_3��G <1?��0� 9U�C�s� /�max-log MAP ��= %3?=� 
α %�3���� 
?� ?�� 6� 15 . ��� qAO N��+A�� / U3?��� �
�+�	� ���	� 3����z� ��?15 �1 ,=] 5L. �;	 9�
] ?( �#�X| 

 / U�C�s� ��=z� ��?16.  
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 ��?tz�14  

 ���
�� ������� ��!�"turbo (df/ad/cd)  

 �
*��� �+,
)���!����-(  

R = 1/3 R = 1/2 R = 2/3 R = 3/4 R = 6/7 

31/106/954 18/159/954 11/159/901 7/10/50 4/9/27 

32/265/1643 19/159/1431 12/265/1325 8/85/375 5/194/719 53 

33/106/901 20/530/3551 13/1802/11342 9/486/2335 6/1228/5371 

33/3476/3384 19/376/3384 12/188/1316 9/27/171 6/199/826 

35/376/3760 20/376/3008 14/752/5264 10/148/1025 7/1578/7269 188  

36/752/6392 22/752/6768 15/1504/12220 11/1462/9674 8/9144/49558 

 ��?tz�15  

 	�
α ���
�� #���$% �&���� turbo  

 �
*��� �+,
)���!����-(  

R = 1/3 R = 1/2 R = 2/3 R = 3/4 R = 6/7 

9,00 6,00 5,67 5,00 3,00 

6,20 9,00 5,00 4,41 3,70 53 

8,50 6,70 6,29 4,80 4,37 

9,00 9,00 7,00 6,33 4,15 

10,00 8,00 7,00 6,93 4,60 752  

8,50 9,00 8,13 6,62 5,42 

 ��?tz�16  

 	�
α ���
�� ������ turbo  

��'��.��� /�0  R = 1/3 

BER/α 

R = 2/5 

BER/α 

R = 1/2 

BER/α 

R = 3/4 

BER/α 

R = 6/7 

BER/α 

5,58 × 10–5/16,8 3,79 × 10–5/16,6 1,39 × 10–4/21,5 9,53 × 10–4/15,9 3,44 × 10–5/6,8 

9,28 × 10–6/14,0 5,56 × 10–6/12,8 2,24 × 10–5/17,1 3,47 × 10–5/11,3 2,34 × 10–6/5,2 6 

1,42 × 10–6/10,6 9,68 × 10–7/10,6 5,69 × 10–7/9,0 9,89 × 10–7/7,8 2,53 × 10–7/4,1 

2,25 × 10–5/23,7 1,57 × 10–5/20,8 6,36 × 10–5/26,6 6,46 × 10–4/18,3 2,67 × 10–5/7,0 

3,28 × 10–6/16,5 2,41 × 10–6/14,5 9,30 × 10–6/18,9 1,89 × 10–5/12,2 1,74 × 10–6/4,8 15  

5,62 × 10–7/11,6 4,25 × 10–7/10,8 3,02 × 10–7/8,9 6,02 × 10–7/7,9 1,78 × 10–7/4,3 
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6.3   ��	
� 
����turbo����
��   

 %��4Vturbo �
3?4	� (BTC)3����	�# ���4V K4� ��\��A %��4V �� U3���  . ���A 52 ��\��A U�4E	 ��A?	� �.�����
�L�1 ���E�� %��4E�	 ��A?	� %�.���� . ����A 
?�# ��\��A U�4E	 ��A?	� �.���� N)X'.m �L�.��1 U?(�� �A��1 U�4V �1 

 ��A?	�dmin r���� (dmin)
m. �'�= ,�X� ��� 9U?���	� �4A ��'��0�#�α U�4E	 ����	�# BTC 9αBTC5�
 �'C 9:  

(25) 
m
cccBTC αα⋅α=α L

21
  

 [�(
ic

α �'�= 52 α �=3 �A���� U�4E�	 i . U��4	� / �"H��� �����Bi� ��1�+�	� %��4E	� d?�����2.3 %��4EC U
�� 
�A��1.  

 ��
�z� ��?17 ��= αBTC
 

 �	
���� ��'��0�# N�
�+A U3?���(25)9 ��'����� �A���� %��4E	� �4A ��'��0� p��4
 [�( 
 U�4E	� / ,�= �1BTC.h��	�#� 9 �'�= oJ. αc

 

 ��?z� /17 ��?z� / �\3?�� �L'�= �4A 52 o��� 9 . o3��
�
 o&�?z�18� 19�=� N�
�+A U3?��� ���	�  %��4E	 U�C�s� �BTC%�A���� ��D��B  . ����4	� / <�B �'C�2.3� 3.3 oJ. 9

%���	� / F���	 �y4���� %&?��� ^1 U�C�s� ��= N��
��� r���� U3?��� ���	�.  

  

 ��?tz�17  

 ���
�� #���$% �&���� 	����turbo��'(
��   
 ����(n,k)���	
   dmin αc   ���
αBTC ����� BTC 

������  
 ���
αBTC ����� BTC 

�����  

(16,11) 4 2,75 7,56 20,80 

(32,26) 4 3,25 10,56 34,33 

(32,21) 6 4,56 20,79 94,82 

(64,57) 4 2,96 8,76 25,93 

(64,51) 6 4,50 20,25 91,13 

  

 ��?tz�18  

 	�
 )& �%'��*α ��
�� ������+ ���$,�� (16,11)x(16,11) BTC  
��	��� ������  Eb/N0 

(dB) 

��
������ � ��!� "  αBTC  

������ � ��!� "��
  αc  

1,0 4,41 × 10–2
 

14,50 1,25 × 10–1 2,82 

2,0 3,43 × 10–3 10,35 7,82 × 10–2 2,88 

2,5 4,24 × 10–4 7,46 5,97 × 10–2 2,52 

3,0 8,30 × 10–5 7,25 4,31 × 10–2 2,82 

3,5 8,51 × 10–6 7,31 2,97 × 10–2 2,99 
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 ��?tz�19  

 	�
 )& �%'��*α ��
�� ������+ ���$,�� (32,26)×(32,26) BTC  

��	��� ������  Eb/N0 
(dB) ������ � ��!� "��
  αBTC  

������ � ��!� "��
  αc  

2,0 4,19 × 10–3 31,57 5,96 × 10–2 3,88 

3,0 7,80 × 10–6 11,21 3,10 × 10–2 3,33 

3,3 2,10 × 10–6 9,76 2,35 × 10–2 3,15 

7.3  ���� ����	
 ��
�� �����  

 >'�	� �1 ��'=3 %&�03i �
e���� %�0���	� �� ��AINTELSAT IDR)  �?�| Y��G�	 51�1] b�"!� d�?��0� ^1
R = 3/4>�{� ( ,1���	 �'�= α r���� 10 �1 �����
 %���	� / F�G �?�1 �1 R?1 e� 4–

10 ×1 ~� 11–
10 × 1 . ?=�

 ,1���	 �'�= %
?@α >'�	� �1 ��'=3 %&�03i %�0���	� �4A / N�y
] INTELSAT IBS)  51�1] b�"!� d�?��0� ^1
 �?�| Y��G�	R = 1/2>�{� .(  

 ,1��	� o] �D���	� �0�3
 �1 ���
�α%���	� / F�T� ��'�(�� Y��G�	 51�1O� b�"!�	� >��� ,��X�	� ^
_�� / �	�
  .
 ���� ,1���� �B] �����αv�A
] 
3��	� �"�	� ��� Y�
O� �I�� ~ .  

 ���E	� / �"H��� ���=O� ?�	�� �2� 3 ,1���	 �'�= d�?��0�# α r���� 10 . b�"!� d�?��0� d?� ��( / N)X'.
Y��G�	 51�1]/ >�{)α = 1( 3�?�| �I�'�	� ��(�f� 910%���	� / F�T� �?�1 %�����1 o����  (BER) �1��- �XC] 

) 3�?�|10.(  

4 ���������	  

�#�j�0)	 �#����� ���=O� o] %�0�3?	� �D��A %�L�]��-��	� �1 U?'���� ��	�Z� ��-��	� / U
?s� l�?2�	   
ITU-T G.826��03i� �?�| �����  . ��������'!�	� ���=] ^
_��# N�y
] F�T� b�"!�	� >��| v3�?# �BF�
 r;	� 

FEC/����� >����	�.  

�¡ ��'��� Y��GO� Y�
] ���=] ¢)��0� ?�� �1?T� %�����1 3����&� / ;G�� o] N�y
] 56��
�.  

  

5  ��-�.�� /�01�+ ���-�.�� �23�
  
BBE ��4�T� U3?4	� F�G (Background block error)  

BBER  ��4�T� U3?4	� F�G ���A (Background block error ratio)  
BCH  £�#9r3�
�E� r�3  9��6��C�2 (Bose, Ray-Chaudhuri, Hocquenghem)  
BEP  %���	� / F�T� ��'�(� (Bit error probability)  
BER  %���	� / F�T� �?�1 (Bit-error rate)  
BTC   U�4Vturbo�
3?.  (Block turbo code)  

EB  F�G U3?. (Errored block)  
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ES  F�G ��A�B (Errored second)  
ESR  F�T� W��X	� ���A (Errored second ratio)  
FEC  Y��G�	 51�1O� b�"!�	� (Forward error-correction)  
FSS  ������	� ��#�X	� �1?T� (Fixed-satellite service)  

GSO  p3O� ~� ����	�# ������ 3�?�� (Geostationary orbit)  
HRDP  5�\�1 5H���.� 5'=3 $�1 (Hypothetical reference digital path)  

HRX  ��H���.� ���\�1 %)-� (Hypothetical reference connections)  
IBS   �1?GINTELSAT�
3�j�	� ��'��	  (INTELSAT business service)  
IDR  >0��1 %����1 �?�1 (Intermediate data rate)  

IG  ��	�
 �#��# (International gateway)  
INTELSAT  ������	� %&�!�)	 ��	�?	� �'+��� (International Telecommunication Satellite Organization)  

IRWEF  �	 �

?� ,��X� �	�
,G?�� M��a (Input-redundancy weight enumerating function)  
MAP   R�!�	� �'��	��	��	��NU�V��1  (Maximum a posteriori)  
MSS  �� �1?T�������	� ����� (Mobile-satellite service)  
PDH  �1���	� M3���1 5'=3 ����� (Plesiochronous digital hierarchy)  

RS  ?
3 �o�1�	�0 (Reed-Solomon)  
SDH  �1���1 5'=3 ����� (Synchronous digital hierarchy)  
SES  F�T� U?
?V ��A�B (Severely errored second)  
SLA  �1 ��4���1?T� R�� (Service level agreement)  

SESR  F�T� U?
?V W��X	� ���A (Severely errored seconds ratio)  
VC  �
�
?�� �
��( (Virtual container)  

WEF  �

?� ,��X� �	�
 (Weight enumeration function)  
 

__________  
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